SHIFE EFTXILEBERTEE (F)

A = (18) = E 3 5 A
4 22 X |[BREXRESR - BE (BR) SNLOTREVZ—
6 10 A |F2REFEES (UEEESR  BY, EFHE) SNLOMREYS—
6 19 T [EHFTmXEEER b KB
9 1 T [EEHHEEERERRFIHE b P RIKE
9 24 & |FIEEFEER CUELRKRERBR) SNLOTREVZ—
3 | £H ES - 1B - AEXEEAXRE RFE
3 9 K |BEE SNLOTREVZ—
3 17 X |FAAEFEES R<BER) SNLOMREYS—
B A% E
A H ) = * 5 i
4 16 € [B1RERESER ERAREE
4 16 £ |B1REEE-BE EHAREE
7 29 A |E2EEAEES-E2REES IERAREE
9 9 K [EIEEFESEER EHAREE
9 19 B |$27RRTYFRKE FHEED B E s
9 24 K |FEIEEER EHAREE
10 14 K |[F4mEES EHAREE
10 22 & BRI LEEFER JINT 1
10 | 23-24 |X-B|5H47EEAEE JINT1
10 23 ~ 31 (HER VA EA: -1
10| 23 ~ 31 |B&EE 1) I\T 1 X BEAT
11 4 KX |FAQETESR-F5REES IERAREE
1 20 A |F1EMEEXEIE205HRERTESR IERAREE
2 10 A |F2EMEBEEXIEIFE205HERZESR IEHAREE
3 1 B |&#HmIEEALI$E205 %17 IERAREE
3 9 K |BEHEE IEHAREE
3 17 K |$oREFEER IERAREE
b= 5 3% &R
A =] (18) = * 5 i)
4 15 X |FIEEE - BES (B SNLOmMREYS—
9 9 A |F2REFEESR CUERIZTDULT) SNLOMREVS—
9 16 A |FE2EEER (3EZIZDLNVT) SNLOTREVZ—
10 29 & EHFVEE HAEX - EE=RERBER b RIKE B
10| 30 T [EHXEE THexX] 8% - =55 b P KB
10| 31 B EHFXLE EMXZ=ERGER b RIKE B
10 | 31~3 |B~K|IEFLER THEE] ShLOmREY S —EES
11| 1~3 [A~K[IEEFULE TEM - XER) TRE - £/%28. KEERE) |[[EHFHPRAEE
11| 1~3 [A~k[IZFH LS NUFER) SNLOTREVZ—
11 11 X |FIEEFESE - BHER SNLOMREVS—
3 9 K |BEE SnNLOTREVZ—

17 R |(FIEEFESEE SnHLOmEEVS—




